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yu, —Xxu, =0
u(cos@,siné) = g(0), —%s&s%
u@©,y)=f(y), -1<y<1

1) fé?\l‘éﬁﬁ’ﬁj F(Y),9(0) F1%) = 2 (10%)
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3. Given uu, =1, find the Monge cone at (0,0,0). Try any method you can

for u,u, =1 subject to Cauchy data u(s,s):ﬁs. (20%)

4. Solve F(x,y,u,p,q)=p°+g+u=0 subject to the Cauchy data u(s,0)=s.
(20%)

5. Solve xu, +yu, =1+y* subject to the u(x1)=1+x. (20%)
6. B HAA ut@+uf+up) =1, u=u(xy) -
(a) +<pY field of Monge cones. (10%)

(b) - E@Fxﬂ] LM =1 Cauchy data: x=s,y=s,2= %s o

s fordy kLA RERRRE T IR (s, s,%s) FL non-characteristic.  (10%)
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